Name: _______________________________________________ Date: ______________ School: ____________________
Math Competition Test—2nd Grade
1. [bookmark: _GoBack]Which of the following statement does NOT mean “11:45 a.m.”?
A. "a quarter to noon"	B. "fifteen minutes to twelve o'clock in the daytime"
C. "three quarters past eleven o'clock in the afternoon"	   D. "forty-five minutes past 11:00 a.m.”
2. Andrew had 15 pennies. He found some more and now he has thirty-three. Which number sentence could be used to find how many pennies he found?
A. 15 + __ = 33		B. __ - 33 = 15		C. 15 + 33 = __		D. __ - 15 = 33
3. Izzy Cohen has one class per grade level from the first to the third grade, and two classes per grade level from the fourth to sixth grade. How many classes does Izzy Cohen have?
A. 9			B. 12			C. 6			D. 10
4. There are four apples in the basket. Stacy cuts each of them into six pieces to serve the family. How many total pieces of apples are there?
A. 4 pieces		B. 24 pieces			C. 10 pieces		D. 6 pieces
5. Twenty-three minutes ago it was 11:49 a.m. What time is it now?
A. 11:26 a.m.		B. 12:12 p.m.		C. 12:12 a.m.		D. 12:02 p.m.
6. Fabrizio wants to make cookies for his friends and family. He will make one cookie for each of his friends and three cookies for each member of his family. If Fabrizio has 6 friends and 7 family members, how many cookies will he need to make?
A. 32			B. 36			C. 27			D. 13
7. Each slice of pizza costs $1.20. How much does the entire pizza cost if there are 4 slices?
A. $4.80			B. $3.60		C. $7.20		D. $1.20
8. Which of the following fractions is the greatest?
A. 1/9			B. 1/2			C. 1/5			D. 1/10
9. Ms. Mary’s class recorded the temperature each day for one week. 
What was the highest temperature?Sunday:  65°F
Monday:  68°F
Tuesday:  75°F
Wednesday:  72°F
Thursday:  68°F
Friday:  64°F
Saturday:  63°F

A. 75°F
B. 20°F
C. 63°F
D. 68°F



10. Kiera is going to take an exam in two months from January 16th.
In what month will she take her exam?
A. June			B. May			C. February		D. March
11. Twenty- seven minutes ago, it was 9:49 p.m. What time is it now?
A. 9:22 p.m.		B. 10:16 p.m.		C. 10:12 a.m.		D. 10:02 p.m.
12. Nadia has a doctor’s appointment 6 months from January 15.
In what month will Nadia see have her appointment?
A. June			B. July			C. February		D. March
13. You have eight dimes and three pennies. Tamara gives you three nickels and you give her two pennies. How much money do you have?
A. $0.95			B. $0.13		C. $0.97		D. $0.96
14. Which other problem has the same answer as: 57 + 35 + 24 =
A. 50 + 40 + 26		B. 30 + 27 + 60		C. 92 + 22 + 10		D. 58 + 32 + 29
15. Mary wipes the floor every Tuesday and Thursday.  How many times did Mary wipe the floor during the past 3 weeks?
A. 6 times			B. 5 times		C. 2 times		D. 3 times
16. Which of the following statement does NOT mean "1:45 p.m."?
A. "a quarter to 2:00 p.m."	B. "fifteen minutes to two o'clock in the morning"	
C. "three quarters past one o'clock in the afternoon"	D. "forty-five minutes past 1:00 p.m."
17. A cat weighs 10 pounds, a dog weighs 35 pounds, and a bird weighs 2 pounds.  How much do the cat and bird weigh together?
A. 45 pounds		B. 8 pounds		C. 37 pounds		D. 12 pounds
18. Jolie plans to get a pair of shoes from a store that closes at 5 o’clock in the afternoon. If Jolie gets out of school at 3:15 p.m., how much time does she have before the store closes?
A. 105 minutes		B. 85 minutes		C. 100 minutes	D. 65 minutes
19. Julissa wants to make bracelets for her friends and family. She will make 2 bracelets for each of her friends and 3 bracelets for each member of her family. If Julissa has 4 friends and 5 family members, how many bracelets will she need to make?
A. 32			B. 36			C. 23			D. 13



20. How many sides does a pentagon have?
A. 5			B. 8			C. 6			D. 7
21. Janessa has 16 goldfish. Seven of them are all gold, three of them are all black, and the rest are both black and gold. How many fish have black on them?
A. 9			B. 2			C. 7			D. 6
22. Balance the equation: 40 + ____ = 70 - 15
A. 15			B. 60			C. 25			D. 20
23. Select the symbol to make this statement true:  13 + 49 ______ 64
A. >			B. <			C. =			D. 
24. Jerold is 69 inches tall. Using rounding, what is Jerold's height in feet?
A. 5			B. 4			C. 6			D. 7
25. Solve:  57 + 35 = 
A. 102			B. 12			C. 92			D. 22
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